HINEEFERNEMERTEFRETRE

L

(m)
= Hp=E13
51 B R4 BEER | e
1 [XEAR—IL sE % 38.800 [XBEHAKR—IL 38.800 38.800
2 |ZER—F e 64.000 |=BEER—IL 64.000
3 |[BRI—7F— Gl 84.000 |xEER—IL 84.000 84.000
4 |BE= Gl 1561900 (BE= 151.900 151.900
b |¥BR=E e 34300 |¥BRR=E 34.300
6 | 1BEEHEE T sE it 120.000 BT~ 120.000 120.000
7 |EBERIEYE T sE it 41.000 EEF 41.000 41.000
8 |RBREBT Gl 30.000 (BT 30.000 30.000
9 [mamm B 28.000 [AEH %&F | 28000
10 [#875= Gl 9.180 |ZHh=E 9.180 9.180
11 |FafRIpE B G 28.000 |R&EEX 28.000 28.000
12 [ i 28.000 | 28000 | 28,000
13 |RBEEES - wEF B 49.000 |4 R SEF | 49.000
14 omersmr o kmy  |mE 42.000 |4 ER &R | 42000
15 [2@E=E AE 84.000 |=&=E 84.000
16 |[BH= G 38.500 | ZzDthfE=E 38.500 38.5600
17 (fB3= sE it 26.075 |zt EZE 26.075 26.075
18 [{RFE= sE it 16.000 [Z0fh{E= 16.000
19 |[BRERZE A 28.000 | znftfE= 28.000
20 |ERE=R Gl 11.250 [Z0fh{E= 11.250 11.250
ANE- 3= e 120.000 [ZnfthfE= 120.000
22 |2BEavEa—Aa=E e 96.250 |zt fE=E 96.250
23 |2REEEBRE T G 120.000 |EHADHX[E FAX IS 120.000
24 |1 2BEHZE(6E) sE i 364.000 [EHADH X[E] F A I 364.000
25 |TREREBREBT Gl 3 315.000 |EHAD MK A 315.000
1,168.265 1,405.705
B/t 1,967.255
Zoth
31 |BAZR 186.400 | ME®DERY
32 |TZAUk 43.560 WA=
33 | 67 A fE
=T |&KZ B miE
BE= 2.2 0.9 22 43.560
=k 2.2 0.9 5 9.900
FhrEE 2.2 0.9 4 1.920
EH= 2.2 0.9 6 11.880
ZRE=E 2.2 0.9 2 3.960
e 2.2 0.9 4 7.920
RBE 2.2 0.9 11 21.780
NS 2.2 0.9 2 3.960
BERE 2.2 0.9 2 3.960
e 2.2 0.9 2 3.960
KRB EEREYE T 2.0 1.8 2 7.200
EEBER T 2.0 1.8 4 14.400
KRR —F— 2.0 1.0 6 12.000
B3|\ 2.0 1.4 1 2.800 |SA~mEhoTE
2.0 1.0 6 12.000 | Z= A f%
2.0 1.0 8 16.000 |iE@mOAS}
2.0 1.6 1 3.200 |AA~mEsoTHIE

186.400




